EARAZROREIERT — 2 N—XBISY —F 2018F7R11H (k) 7EI%HA2H

VGl > 2B 4 5% (xwlw | lmEmml - |5 ) eom 8
[AE£] 1% :190,000 " ~ 23%&:44,000”  33%&:19,000 M  437&:14,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1B 3 FvZX4 vk i 4 éilil_l(l)’A‘EU 1:(4_4).4 4-4-4-2 | 40.0| — 4 435 gg;ﬁ (€2
Qid- L KEAfO— B:7-AF2 8 gk m
7 » PR i 4 ?i_%gﬁ*ﬁ 1:(424).8 1-1-1-1 | 41.5| — 1 478 gggﬁ (BEB)
R:A—I T BxAHT— (=3) FEHKS
3 8 EFT7731)— 4 6 gi'l;?’éz 1:45.0 7-7-7-6 | 39.8| — 6 487 I;LIE?DL% (gw
N . 1 —_=
QAL LN Ky IR BiTU—SkLy K W ) 7R =
N > PR EEE R % 5 | BHER 156 5-6-6-7 |40.6| — | 5 | 453 ﬁﬁgz (812)
Rigr—3IUYFL B:IAIHLYY 2l
5|11 |y=¥7—nk # 5 ;%E%EE'J 1:(415).8 6-5-5-5 | 40.9| — 2 | 515 ?gggi (5£42)
LT3y 081K BAXTAN— b 0 | g Ex
6l5ls | vT—snsvs it 5 g"f‘%%ﬂ\ },‘fi? 8-8-8-8 |40.4| — 7 | 412 ;ﬁgg% (%)
L:xv 77 bw—L BETNRYTAHR (#5) KBRS
B4 | BEEEAE 1:45.8 9-9-9-9 [39.7| — 9 449 | DNEE=EAR (S£HA)
71717 1 X2F 54.0 (7€) (g |FEBZ :
G147 h7—IEY B I7LEXR-F EANIS
glglg| TR/ =yhE > 8 | KEA 1o 3032 |@s| — | 8 | a8 | EHWE (W)
LTFTU— bk AT Th—Fa—> 8 | s
9 6l 7LA RFELT« # o4 %@%iﬁuﬁz (11;417/.22) 2-2-2-4 | 43.8| — | 3 | 512 iﬁﬁ%gz (3212)
RIAYLFEaT 1 B IV O lax
® I—F—@EBIERL
|S=7r= 4,6,9,3,2,1,8,5,7
2o=3F= 4,6,9,3,1,2,8,5,7
3T—7— 4,6,9,3,1,2,8,5,7
41—F— 4,(3,9),6,1,8,2,5,7
[ N5
B 3 800 794K 3-4 250 & 3-4 620M &R 3-4-8 2,980M
# B 3 140 3-8 1,240 B E 3-4 470M EE 3-4-8 9,100/
4 150 4-8 780M B H 3-4 1,090
8 400M

ABICOVWTRDTEEERROODE. TR LIV,



